1) Erganze auf 1 kg (alle Angaben bitte in g)

750g (342g | 7538 |998¢g |310g |111g |501g | % kg | kg |%kg

2) Fllle die Tabelle wie in der ersten Spalte aus

3657 g 5820 g 238

3kg657¢g 5kg 50¢g 4kg 75¢g

3,657 kg 6,790 kg

3) Rechne

5t340kg + 2t340kg
2t561kg + 1t621 kg
3t215kg + 965kg =
456 kg + 765 kg =
453,432 kg + 231,342 kg =
47,563 kg +312¢g =
3,715kg+31g=

2kg + 3g =

4) Sortiere von klein nach groR

321kg / 213g / 123,322 kg / 0,333 kg / 312g / 0,211kg

www.Mathe-in-Smarties.de Seite 1



